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REVIEW 9.1-9.3

1. Sketch the graph. State the function’s domain and range, and circle whether it is decay or growth.
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2 — 3. Determine whether each function represents exponential GROWTH or DECAY.
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4. Using a calculator, write the equation of an exponential function that passes through the given points.
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5—6. Solve each equation.
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7. Write the equation in exponential form.
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8. Werite the equation in logarithmic form.
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9 —10. Rewrite each statement using only

log 15 and log 3

9. log5= qu (%)
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10. log 45 = log (IS °3)
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11-12. Use| log, 6=A|,|log, 11=B|, and |log, 5= |

to approximate the value of:

11. Iog51—61= lo‘ls "~|°3§ b

13 —16. Switch to exponential form and solve for x.

13. log, 216 =X

b= all

(=3

15. log, 100=2
x? =100

17 — 22. Combine to get a single log on each side and solve for x.

17. log, (152) =log, (19x)
IS2= 9%
3 =x

19. 3elog, (x) =log, (729)

¥3=7219

X =9
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21. log, (10)+log, (3x—3) =log, (120)
04 |o(3x-3)= 20
| S;I (3%-3) Ion(

YWy ~-30= (20
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12. log, 55 * loqs(“'Q)
z logs “ + lDﬁ{S-
= B+ |

14. log, x=5

3¢ =X
A43= %

16. log, (3x+26)=3
59 =2x43b
125 =3xX +3b

94 =3 X

2% = %

18. log, (8x+10)=log, (5x+73)
EXHI0=85X+13
X =63

20. log (7)+2'o{g(-x\)' =log (252)
log 7x2 = log 253
Ty =SS
x>= 306
X=eJ
22. log (x)—log (11) =log (4)
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